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pr
éc

is
ém

en
t,

po
ur

to
ut

e
su

it
e

(x
n
) n

2N
de

ré
el

s,
il

ex
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te
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(⌦
,A

,P
)
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un
e
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X
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X
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✓
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n

|n
2

N
}
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n
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N
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X

=
x

n
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p

n
.

I.
1.

d
)

Fo
n
ct

io
n

d
e

ré
p
ar

ti
ti

on
d
’u

n
e

v.
a.

r.
d
is

cr
èt

e

T
h
éo

rè
m

e
2.

So
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(⌦
,A

,P
)

un
es
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ce

pr
ob

ab
ili

sé
.

So
it

X
un

e
v.

a.
r.

di
sc

rè
te

su
r

(⌦
,A

)
te

lle
qu

e
X

(⌦
)

=
{x

i
|i

2
I
}

(I
✓

N
).

A
lo

rs
la

fo
nc

ti
on

de
ré

pa
rt

it
io

n
F

X
es

t
dé

te
rm

in
ée

pa
r

:

8x
2

R
,

F
X

(x
)

=
P x
i
6

x

i2
I

P(
[X

=
x

i]
)

D
ém

on
st

ra
ti
on

.
O

n
re

m
ar
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e

to
ut

d’
ab

or
d

qu
e
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X

6
x
]

=
S

x
i
6

x

i2
I

[X
=

x
i]
.

(⇢
)
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it
!
2

[X
6

x
].

A
lo
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X

(!
)
6

x
.

O
r

X
(!

)
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t
un
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en
t

du
su

pp
or

t
de

X
do

nc
s’
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t
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fo
rm

e
x

i
po

ur
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ce
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n

i
2

I
.

(�
)
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!
2

S
x

i
6

x
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I
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=

x
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.

A
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!
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t
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él

ém
en

t
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l’u
n
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s
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en
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[X

=
x

i]
av
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i
2

I
et

x
i
6

x
.

A
in
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,X

(!
)

=
x

i
6

x
et

do
nc

!
2
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6

x
].

O
n

a
aff
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re

à
un

e
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io
n
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pl

us
dé

no
m

br
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le
d’

év
én

em
en

ts
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à
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ux
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m
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ti
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n
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en
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su
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gr
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e
à
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�
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é
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R
em

arqu
e

C
om

m
e

[X
>

k
+

`]✓
[X

>
k
],on

a
:

P
[X

>
k
] ([X

>
k

+
`])

=
P
([X

>
k

+
`])

P
([X

>
k
])

=
q
k
+
`

q
k

=
q
`
=

P
([X

>
`])

O
n

dit
alors

que
la

loigéom
étrique

est
à

perte
de

m
ém

oire
(la

propriété
X

>
k

est
oubliée)

ou
encore

que
la

loigéom
étrique

est
san

s
m

ém
oire.

III.2.
L
oi

d
e

P
oisson

D
éfi

n
ition

•
O

n
dit

qu’une
v.a.r.

X
suit

la
loi

d
e

P
oisson

de
param

ètre
�

>
0

si:

a)
X

(⌦
)

=
N

b)
8
k
2

N
⇤,

P
([X

=
k
])

=
e �

�
�

k

k
!

•
O

n
utilisera

la
notation

X
,!

P
(�

)
pour

signifier
que

X
suit

la
loide

P
oisson

de
param

ètre
�.

E
xem

p
le

Le
BO

suggère
d’introduire

la
loide

P
oisson

com
m

e
loilim

ite.
O

n
considère

(X
n
)
n2

N
⇤

une
suite

de
v.a.r.

telle
que,

pour
tout

n
2

N
⇤,

X
n
,!

B
�n

,
�n �

où
�

>
0.O

n
a

alors,pour
tout

k
6

n
:

P
(X

n
=

k
)

=

✓
nk ◆

⇥
✓
�n ◆

k⇥
✓

1�
�n ◆

n�
k

=
n
!

k
!(n

�
k
)!

�
k

n
k

✓
1�

�n ◆
n
✓

1�
�n ◆

�
k

=
�

k

k
!

n
!

(n�
k
)!

n
k

✓
1�

�n ◆
n
✓

1�
�n ◆

�
k
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E
xem

p
le

O
n

reprend
l’exem

ple
précédent.La

fonction
de

répartition
de

la
v.a.r.

X
com

ptant
le

nom
bre

de
P

est
donnée

par
le

graphe
suivant.

00
1

2
3

4

1

•
O

n
obtient

une
fonction

constante
par

m
orceaux

quiprésente
des

sauts
de

discontinuité.C
ette

form
e

en
escalier

est
caractéristiqu

e
des

fonc-
tions

de
répartition

des
v.a.r.discrètes.

•
Les

contrem
arches

(i.e.
les

sauts
de

discontinuité)
ont

pour
hauteur

les
valeurs

successives
de

P
([X

=
x

i ])
(les

x
i
étant

rangés
dans

l’ordre).

T
h
éorèm

e
3.

Soit
(⌦

,A
,P

)
un

espace
probabilisé.

Soit
X

une
v.a.r.

discrète
sur

(⌦
,A

).

1)
Si

X
est

fini
i.e.

X
(⌦

)
=

{
x

1 ,...,x
n }

alors
:

nPi=
1 P

([X
=

x
i ])

=
1

2)
Si

X
est

infini
i.e.

X
(⌦

)
=

{x
i |

i2
N}

alors
:

+
1Pi=
0

P
([X

=
x

i ])
=

1

3)
O

n
peutrésum

er
ces

propriétés
en

notant:
P

x2
X

(⌦
) P

([X
=

x
])

=
1
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ra
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m
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=
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=
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=
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⇥
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=
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⇥
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⇥
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<
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:
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1

qn
=
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ré
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so
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ai
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⇥
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⇥
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re
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Le
term

e
général

n
2q

n�
1

apparaît
com

m
e

la
som

m
e

de
:

⇥
n
(n

�
1)

q
n�

1,quiest
le

term
e

générald’une
série

géom
étrique

dé-
rivée

seconde
de

raison
q

vérifiant
0

<
q

<
1,

⇥
n

q
n�

1,
qui

est
le

term
e

général
d’une

série
géom

étrique
prem

ière
de

raison
q

vérifiant
0

<
q

<
1.

O
n

en
conclut

que
la

v.a.r.
X

adm
et

une
variance.

C
alculons

V
(X

)
à

l’aide
de

la
form

ule
de

K
œ

nig-H
uygens.

•
T
out

d’abord,on
a

:

E
(X

2)
=

+
1Pn
=

1
n

2
p

q
n�

1
=

p
+
1Pn
=

1
(n

(n
�
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+

n
)
q
n�
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=
p

q
+
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=

1
n
(n

�
1)

q
n�

2
+

p
+
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=

1
n

q
n�

1

=
p

q
2

(1�
q)

3
+

p
1

(1�
q)

2

=
2

q

p
2

+
pp
2

=
2

(1�
p
)

p
2

+
pp
2

=
2�

p

p
2

•
D

’autre
part

:
(E

(X
))

2
=

✓
1p ◆

2

=
1p
2

A
insi:V

(X
)

=
E

(X
2)�

(E
(X

))
2

=
2�

p

p
2

�
1p
2

=
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p

p
2
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I.1.e)
O

p
ération

s
su

r
les

v.a.r.
d
iscrètes

T
h
éorèm

e
4.

Soit
(⌦

,A
)

un
espace

probabilisable.
Soient

X
et

Y
deux

v.a.r.
discrètes

sur
(⌦

,A
)

et
�
2

R
.

X
+

Y
,
�
X

et
X

Y
sont

des
v.a.r.

discrètes.

où
l’on

a
noté

:
•

X
+

Y
:

⌦
!

R
!

7!
X

(!
)
+

Y
(!

)

•
�
X

:
⌦

!
R

!
7!

�
X

(!
)

•
X

Y
:

⌦
!

R
!

7!
X

(!
)

Y
(!

)

D
ém

onstration.
D

ém
ontrons

tout
d’abord

que
X

+
Y

,
�
Y

et
X

Y
sont

des
v.a.r.

(i)
X

+
Y

,
�
X

et
X

Y
sont

bien
des

fonctions
de

⌦
dans

R
.

(ii)
A

dm
is.

Ilreste
alors

à
dém

ontrer
que

ces
v.a.r.sont

discrètes,autrem
ent

dit
que

leur
support

est
au

plus
dénom

brable.
Les

v.a.r.
X

et
Y

étant
discrètes,on

peut
noter

:
⇥

X
(⌦

)
=

{
x

i |
i2

I}
où

I
✓

N
,

⇥
Y

(⌦
)

=
{y

j |
j2

J}
où

J
✓

N
.

A
insi

:
(�

X
)(⌦

)
=

{�
x

i |
i2

I}.
C

om
m

e
I
✓

N
,

la
v.a.r.

�
X

est
bien

discrète.
D

’autre
part

:

(X
+

Y
)(⌦

)
=

{x
i
+

y
j |

(i,j)2
I⇥

J}
et

(X
Y

)(⌦
)

=
{
x

i y
j |

(i,j)2
I⇥

J}
O

r
I⇥

J
est

une
partie

de
N

2
donc

est
au

plus
dénom

brable.
A

insi,
X

+
Y

et
X

Y
sont

bien
des

v.a.r.discrètes.
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=
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=
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=
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>

1
n

2
p

qn
�

1
es

t
ab

so
lu

m
en

t
co

nv
er

ge
nt

e.
O

r
:

•
|n

2
p

qn
�

1
|=

n
2
p

qn
�

1
,

•
n

2
qn

�
1

=
(n

(n
�

1)
+

n
)
qn

�
1

=
n
(n

�
1)

qn
�

1
+

n
qn

�
1
.
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R
em

ar
qu

e
(S

tr
uc

tu
re

de
l’e

ns
em

bl
e

de
s

v.
a.

r.
di

sc
rè

te
s)

O
n

pe
ut

dé
m

on
tr

er
qu

e
l’e

ns
em

bl
e

F
(⌦

,R
)

de
s

fo
nc

ti
on

s
de

⌦
da

ns
R

es
t

un
es

pa
ce

ve
ct

or
ie

l(
cf

ch
ap

it
re

co
rr

es
po

nd
an

t)
.

L’
en

se
m

bl
e

de
s

v.
a.

r.
di

sc
rè

te
s

:

⇥
es

t
un

so
us

-e
ns

em
bl

e
de

F
(⌦

,R
),

⇥
es

t
st

ab
le

pa
r
la

lo
i+

et
la

lo
i·

(c
’e

st
l’o

bj
et

du
th

éo
rè

m
e

pr
éc

éd
en

t)
.

C
el

a
pe

rm
et

de
dé

m
on

tr
er

qu
e

l’e
ns

em
bl

e
de

s
v.

a.
r.

di
sc

rè
te

es
t

un
so

us
-

es
pa

ce
ve

ct
or

ie
ld

e
F

(⌦
,R

).

I.
1.

f)
T
ra

n
sf

or
m

at
io

n
d
’u

n
e

v.
a.

r.
d
is

cr
èt

e

D
éfi

n
it

io
n

So
it

(⌦
,A

,P
)

un
es

pa
ce

pr
ob

ab
ili

sé
et

X
un

e
v.

a.
r.

di
sc

rè
te

su
r

(⌦
,A

).

So
it

g
:
X

(⌦
)
!

R
un

e
ap

pl
ic

at
io

n.

O
n

no
te

ra
g
(X

)
l’a

pp
lic

at
io

n
co

m
po

sé
e

g
�X

:

g
(X

)
:

⌦
!

R
!

7!
g
(X

(!
))

T
h
éo

rè
m

e
5.

So
it

(⌦
,A

,P
)

un
es

pa
ce

pr
ob

ab
ili

sé
.

So
it

X
un

e
v.

a.
r.

di
sc

rè
te

su
r

(⌦
,A

)
te

lle
qu

e
X

(⌦
)

=
{x

i
|i

2
I
}

(I
✓

N
).

So
it

g
:
X

(⌦
)
!

R
un

e
ap

pl
ic
at

io
n.

L’
ap

pl
ic
at

io
n

g
(X

)
vé

ri
fie

le
s

pr
op

ri
ét

és
su

iv
an

te
s.

1)
g
(X

)(
⌦

)
=

{g
(x

i)
|i

2
I
}.

2)
g
(X

)
es

t
un

e
v.

a.
r.

di
sc

rè
te

.

3)
8y

2
g
(X

)(
⌦

),
P(

[g
(X

)
=

y
])

=
P

x
i
2X

(⌦
)

g
(x

i
)=

y

P(
[X

=
x

i]
)
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III.
L
ois

discrètes
infinies

III.1.
L
oi

géom
étriqu

e

D
éfi

n
ition

•
O

n
dit

qu’une
v.a.r.

X
suit

la
loi

géom
étriqu

e
de

param
ètre

p
2

]0,1[si:

a)
X

(⌦
)

=
N
⇤

b)
8
k
2

N
⇤,

P
([X

=
k
])

=
p

q
k�

1
avec

q
=

1�
p

•
O

n
utilisera

la
notation

X
,!

G
(p

)
pour

signifier
que

X
suit

la
loi

géom
étrique

de
param

ètre
p.

E
xem

p
le

O
n

considère
une

expérience
aléatoire

qui
consiste

en
une

succession
in-

finie
d’épreuves

indépendantes,
chacune

d’entre
elles

ayant
deux

issues
:

succèsobtenu
avec

probabilité
p

etéchec
obtenu

avec
probabilité

q
=

1�
p.

A
utrem

ent
dit,l’expérience

consiste
à

effectuer
une

infinité
d’épreuves

de
B

ernoulli
identiques

(m
êm

e
param

ètre)
et

indépendantes
(le

résultat
de

l’une
ne

dépend
pas

du
résultat

des
autres).A

lors
la

v.a.r.donnant
le

rang
d’apparition

du
prem

ier
succès

de
l’expérience

suit
la

loigéom
étrique

de
param

ètre
p.

•
O

n
considère

l’expérience
du

jeu
de

P
ou

F
où

l’obtention
de

P
est

obtenue
avec

probabilité
p

(et
F

avec
probabilité

1�
p).

L’expérience
consiste

à
répéter

indéfinim
ent

ce
jeu

de
pile

ou
face.

O
n

note
X

la
v.a.r.égale

au
rang

d’apparition
du

prem
ier

P
.

A
lors

:
X

,!
G

(p
)

•
O

n
considère

une
urne

contenant
r

boules
rouges

et
v

boules
vertes.

L’expérience
consiste

au
tirage

infinid’une
boule

avec
rem

ise.
O

n
note

X
la

v.a.r.donnant
le

rang
d’apparition

de
la

prem
ière

boule

rouge.A
lors

:
X

,!
G
✓

r

r
+

v ◆
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D
ém

onstration.

1)
P
ar

définition
de

g
(X

),on
a

:
g
(X

)(⌦
)

=
g
(X

(⌦
))

=
{
g
(x

i )|
i2

I}.
2)

Le
support

de
g
(X

)
est

indéxé
par

I
✓

N
,
ensem

ble
au

plus
dénom

-
brable.O

n
ne

dém
ontre

pas
le

point
(ii).

3)
Soit

y
2

g
(X

)(⌦
).A

lors
on

a
:

[g
(X

)
=

y
]

=
{
!
2
⌦

|
g
(X

(!
))

=
y}

=
{
!
2
⌦

|
X

(!
)2

{x
i |

i2
I

et
g
(x

i )
=

y}}
=

Si2
I

g
(x

i )=
y

[X
=

x
i ]

O
n

obtient
ainsi

[g
(X

)
=

y
]com

m
e

union
dénom

brable
d’événem

ents
deux

à
deux

incom
patibles.

E
n

effet,{
i2

I
|
g
(x

i )
=

y}
✓

I
est

au
plus

dénom
brable

et
[X

=
x

i ]\
[X

=
x

j ]
=

?
pour

i6=
j.O

n
a

alors
:

P
([g

(X
)

=
y
])

=
P

 
Si2

I

g
(x

i )=
y

[X
=

x
i ] !

=
Pi2

I

g
(x

i )=
y

P
([X

=
x

i ])

É
tu

d
e

d
e

la
loi

d
e

Y
=

g
(X

)
su

r
qu

elqu
es

exem
p
les.

Soit
X

une
v.a.r.discrète.O

n
considère

la
v.a.r.discrète

Y
=

g
(X

)
pour

les
applications

g
suivantes.

1)
Si

g
:
x
7!

a
x

+
b

où
a
6=

0.

A
lors

Y
(⌦

)
=

g
(X

)(⌦
)

=
{
g
(x

)|
x
2

X
(⌦

)}
=

{
a
x

+
b|

x
2

X
(⌦

)}
La

loide
Y

est
donnée

par,pour
tout

y
2

Y
(⌦

)
:

P
([Y

=
y
])

=
P
([a

X
+

b
=

y
])

=
P
✓

X
=

y�
b

a

�◆

E
n

effet,si
!
2

[a
X

+
b

=
y
]alors

a
X

(!
)
+

b
=

y
i.e.

X
(!

)
=

y�
b

a
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•
O

n
co

ns
id

èr
e

un
e

ur
ne

qu
ic

on
ti

en
t
a

bo
ul

es
bl

an
ch

es
et

b
bo

ul
es

no
ir

es
.

L’
ex

pé
ri

en
ce

co
ns

is
te

à
ti

re
r
su

cc
es

si
ve

m
en

t
et

sa
n
s

re
m

is
e

n
bo

ul
es

da
ns

l’u
rn

e
(o

n
su

pp
os

e
n
6

a
+

b)
.

O
n

no
te

X
la

v.
a.

r.
ég

al
e

au
no

m
br

e
de

bo
ul

es
bl

an
ch

es
ob

te
nu

es
.

A
lo

rs
:X

,!
H
✓ a

+
b,

n
,

a

a
+

b

◆

A
ut

re
m

en
t

di
t,

po
ur

ce
s

de
ux

ex
pé

ri
en

ce
s

a
pr

io
ri

di
ffé

re
nt

es
,
la

v.
a.

r.
do

nn
an

t
le

no
m

br
e

de
bo

ul
es

bl
an

ch
es

su
it

la
m

êm
e

lo
ig

éo
m

ét
ri

qu
e.

R
em

ar
qu

e
•

O
n

re
tr

ou
ve

la
fo

rm
ul

e
de

V
an

de
rm

on
de

.
C

on
si

dé
ro

ns
l’u

ne
ou

l’a
ut

re
de

s
ex

pé
ri

en
ce

s
pr

éc
éd

en
te

s.
O

n
su

pp
os

e
de

pl
us

qu
e

a
>

n
et

b
>

n
de

so
rt

e
qu

e
:

Jm
ax

(0
,n

�
N

q)
,m

in
(n

,N
p
)K

=
J0

,n
K.

C
om

m
e

([
X

=
k
])

k
2J

0
,n

K
es

t
le

sy
st

èm
e

co
m

pl
et

d’
év

én
em

en
ts

as
so

ci
é

à
X

:
n P k
=

0

P(
[X

=
k
])

=
1

do
nc

n P k
=

0

� a k

�
�

b
n
�

k

�
� a

+
b

n

�
=

1.

O
n

en
co

nc
lu

t
:

n P k
=

0

✓ a k

◆
✓

b

n
�

k

◆
=

✓ a
+

b

n

◆

T
h
éo

rè
m

e
16

.
So

it
X

un
e

v.
a.

r.
di

sc
rè

te
fin

ie
te

lle
qu

e
X

,!
H

(N
,n

,p
)

(a
ve

c
1
6

n
6

N
,
p
2]

0,
1[

).
1)

X
ad

m
et

un
e

es
pé

ra
nc

e
et

un
e

va
ri

an
ce

.

2)
D

e
pl

us
:

E(
X

)
=

n
p

et
V

(X
)

=
n

p
q

N
�

n

N
�

1

D
ém

on
st

ra
ti
on

.
1)

X
ad

m
et

un
e

va
ri

an
ce

(e
t

do
nc

un
e

es
pé

ra
nc

e)
ca

r
c’

es
t

un
e

v.
a.

r.
fin

ie
.

2)
A

dm
is

.
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2)
Si

g
:
x
7!

x
2
.

A
lo

rs
Y

(⌦
)

=
g
(X

)(
⌦

)
=

{g
(x

)
|x

2
X

(⌦
)}

=
{x

2
|x

2
X

(⌦
)}

.
So

it
y
2

Y
(⌦

).
•

Su
pp

os
on

s
y
6=

0
et

so
it
!
2
⌦

.
!
2

[Y
=

y
]
,

!
2
⇥ X

2
=

y
⇤

,
X

(!
)2

=
y
.O

r
:

X
(!

)2
=

y
,

X
(!

)
=

p
y

O
U

X
(!

)
=

�
p

y

A
in

si
,⇥

X
2

=
y
⇤ =

⇥ X
=

p
y
⇤ [
⇥ X

=
�
p

y
⇤ .

La
lo

id
e

Y
es

t
do

nn
ée

pa
r,

po
ur

to
ut

y
2

Y
(⌦

)
\{

0}
:

P(
[Y

=
y
])

=
P(
⇥ X

2
=

y
⇤ )

=
P(

[X
=

p
y
])

+
P(

[X
=

�
p

y
])

•
D

an
s

le
ca

s
y

=
0,

on
ob

ti
en

t
P(

[Y
=

0]
)
=

P(
[X

=
0
])

.
3)

Si
g

:
x
7!

|x
|.

A
lo

rs
Y

(⌦
)

=
g
(X

)(
⌦

)
=

{g
(x

)
|x

2
X

(⌦
)}

=
{|

x
||

x
2

X
(⌦

)}
.

So
it

y
2

Y
(⌦

).
•

Su
pp

os
on

s
y
6=

0
et

so
it
!
2
⌦

.
!
2

[Y
=

y
]
,

!
2

[|X
|=

y
]
,

|X
(!

)|
=

y
.O

r
:

|X
(!

)|
=

y
,

X
(!

)
=

y
O
U

X
(!

)
=

�
y

A
in

si
,[

|X
|=

y
]
=
⇥ X

=
p

y
⇤ [
⇥ X

=
�
p

y
⇤ et

:

P(
[Y

=
y
])

=
P(

[|X
|=

y
])

=
P(

[X
=

y
])

+
P(

[X
=

�
y
])

•
D

an
s

le
ca

s
y

=
0,

on
ob

ti
en

t
P(

[Y
=

0]
)
=

P(
[X

=
0
])

.
4)

Si
g

:
x
7!

ex
.

A
lo

rs
Y

(⌦
)

=
g
(X

)(
⌦

)
=

{g
(x

)
|x

2
X

(⌦
)}

=
{e

x
|x

2
X

(⌦
)}

.
So

it
y
2

Y
(⌦

).
C

om
m

e
!
2
⇥ eX

=
y
⇤

,
eX

(!
)
=

y
,

X
(!

)
=

ln
y
,

la
lo

id
e

Y
es

t
do

nn
ée

pa
r,

po
ur

to
ut

y
2

Y
(⌦

)
pa

r
:

P(
[Y

=
y
])

=
P(
⇥ eX

=
y
⇤ )

=
P(

[X
=

ln
y
])
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II.5.
L
oi

hyp
ergéom

étriqu
e

(BONUS)

D
éfi

n
ition

•
Soit

(N
,n

)2
(N

⇤)
2

telque
1
6

n
6

N
et

soit
p
2

]0,1[(q
=

1�
p).

•
O

n
dit

qu’une
v.a.r.discrète

X
suit

la
loi

hyp
ergéom

étriqu
e

de
param

ètre
(N

,n
,p

)
si:

a)
X

(⌦
)

=
Jm

ax
(0,n

�
N

q),m
in

(n
,N

p
)K

b)
8
k
2

Jm
ax

(0,n
�

N
q),m

in
(n

,N
p
)K,

P
([X

=
k
])

=

�
N

pk �
�

N
q

n�
k �

�
Nn �

•
O

n
utilisera

la
notation

X
,!

H
(N

,n
,p

)
pour

signifier
que

X
suit

la
loihypergéom

étrique
de

param
ètre

(N
,n

,p
).

E
xem

p
le

•
O

n
considère

une
urne

quicontient
a

boules
blanches

et
b

boules
noires.

L’expérience
consiste

à
tirer

sim
u
ltan

ém
ent

n
boules

dans
l’urne

(on
suppose

n
6

a
+

b).
O

n
note

X
la

v.a.r.égale
au

nom
bre

de
boules

blanches
obtenues.

A
lors

:
X

,!
H
✓

a
+

b,n
,

a

a
+

b ◆
.

A
utrem

ent
dit,on

a
:

8
k
2

X
(⌦

),
P
([X

=
k
])

=

�
ak �
�

b
n�

k �
�
a
+

b
n

�

(ici,
N

=
a

+
b

et
p

=
a

a
+

b
d’où

N
p

=
a

et
N

q
=

b)
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I.2.
E
sp

éran
ce

d
’u

n
e

variab
le

aléatoire
d
iscrète

I.2.a)
D

éfi
n
ition

D
éfi

n
ition

Soit
(⌦

,A
,P

)
un

espace
probabilisé.

Soit
X

une
v.a.r.discrète

sur
(⌦

,A
).

1)
Si

X
est

finie
:et

que
X

(⌦
)

=
{x

1 ,...,x
n }.

D
ans

ce
cas,on

appelle
esp

éran
ce

de
la

v.a.r.
X

et
on

note
E

(X
)

:

E
(X

)
=

nPi=
1

x
i P

([X
=

x
i ])

2)
Si

X
est

infinie
:alors

X
(⌦

)
=

{
x

i |
i2

N}.
D

ans
ce

cas,sila
série

P
x

n
P
([X

=
x

n
])

est
ab

solu
m

ent
conver-

gente,on
appelle

esp
éran

ce
de

la
v.a.r.

X
et

on
note

E
(X

)
:

E
(X

)
=

+
1Pi=
0

x
i P

([X
=

x
i ])

3)
Sous

réserve
d’existence,l’espérance

s’écrit
donc

:

E
(X

)
=

P
x2

X
(⌦

)

x
P
([X

=
x
])

=
Pi2

I

x
i P

([X
=

x
i ])

L’espérance
est

un
m

oyenne
pondérée

:on
som

m
e

chaque
valeur

possible
pour

X
pondérée

par
la

probabilité
que

X
prenne

cette
valeur.
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�
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=
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=
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X
=
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✓
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�
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r.
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ie
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an
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.
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1

2
3

4
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R
em

ar
qu

e
L’

es
pé

ra
nc

e
pe

ut
êt

re
pe

ns
ée

co
m

m
e

un
e

gé
né

ra
lis

at
io

n
de

la
no

ti
on

de
m

oy
en

ne
.I

llu
st

ro
ns

ce
po

in
t

av
ec

l’e
xe

m
pl

e
su

iv
an

t.

•
E

xp
ér

ie
nc

e
al

éa
to

ir
e

:o
n

ob
se

rv
e

le
ré

su
lt

at
d’

1
la

nc
er

de
dé

à
6

fa
ce

s.

•
U

ni
ve

rs
de

s
po

ss
ib

le
s

:⌦
=

J1
,6

K.
•

N
ot

on
sX

la
v.

a.
r.

di
sc

rè
te

fin
ie

co
ns

is
ta

nt
à

do
nn

er
le

ré
su

lt
at

du
la

nc
er

.

•
X

(⌦
)

=
J1

,6
Kd

on
c

X
es

t
do

nc
un

e
v.

a.
r.

di
sc

rè
te

fin
ie

.

1)
D

an
s

un
pr

em
ie

r
te

m
ps

,m
un

is
so

ns
⌦

de
la

pr
ob

ab
ili

té
un

ifo
rm

e
P 1

.
La

v.
a.

r.
X

ét
an

t
fin

ie
,e

lle
ad

m
et

un
e

es
pé

ra
nc

e
do

nn
ée

pa
r

:

E(
X

)
=

P
x
2X

(⌦
)

x
P 1

([
X

=
x
])

=
6 P k
=

1

k
P 1

([
X

=
k
])

=
1 6

6 P k
=

1

k
=

1 6

6
(6

+
1
)

2
=

3
,5

Le
ré

el
3
,5

es
t

la
m

oy
en

ne
de

s
ré

su
lt

at
s

du
la

nc
er

d’
un

dé
éq

ui
lib

ré
(p

ro
ba

bi
lit

é
P 1

pr
is

e
en

co
m

pt
e)

.

2)
O

n
m

un
it

m
ai

nt
en

an
t
⌦

de
la

pr
ob

ab
ili

té
P 2

te
lle

qu
e

:

P(
{4

})
=

P(
{5

})
=

P(
{6

})
=

1 3

La
v.

a.
r.

X
ét

an
t

fin
ie

,e
lle

ad
m

et
un

e
es

pé
ra

nc
e

do
nn

ée
pa

r
:

E(
X

)
=

P
x
2X

(⌦
)

x
P 2

([
X

=
x
])

=
6 P k
=

1

k
P 2

([
X

=
k
])

=
6 P k
=

4

k
P 2

([
X

=
k
])

=
1 3

6 P k
=

4

k
=

1 3

3
(4

+
6)

2
=

5

Le
ré

el
5

es
t

la
m

oy
en

ne
de

s
ré

su
lt

at
s

du
la

nc
er

da
ns

le
ca

s
de

no
tr

e
dé

tr
uq

ué
(p

ro
ba

bi
lit

é
P 1

pr
is

e
en

co
m

pt
e)

.
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O
r,pour

k
2

J1
,nK,on

a
:
k ✓

nk ◆
=

n ✓
n
�

1

k�
1 ◆

.

A
insi:

k
2 ✓

nk ◆
=

k
n ✓

n
�

1

k�
1 ◆

=
n

k ✓
n
�

1

k�
1 ◆

.

A
fin

de
pouvoir

se
débarraser

du
k

restant,
on

rem
arque

:
k

=
(k�

1)
+

1.
O

n
en

déduit
alors

que,pour
tout

k
2

J2,nK
:

n
k ✓

n
�

1

k�
1 ◆

=
n

(k�
1) ✓

n
�

1

k�
1 ◆

+
n

✓
n
�

1

k�
1 ◆

=
n

(n
�

1) ✓
n
�

2

k�
2 ◆

+
n

✓
n
�

1

k�
1 ◆

O
n

a
alors

:

E
(X

2)
=

nPk
=

1

k
2 ✓

nk ◆
p

kq
n�

k

=
nPk
=

1

n
(k�

1) ✓
n
�

1

k�
1 ◆

p
kq

n�
k

+
nPk
=

1

n

✓
n
�

1

k�
1 ◆

p
kq

n�
k

=
nPk
=

2

n
(k�

1) ✓
n
�

1

k�
1 ◆

p
kq

n�
k

+
n
p

=
nPk
=

2

n
(n

�
1) ✓

n
�

2

k�
2 ◆

p
kq

n�
k

+
n
p

=
n

(n
�

1)
n�

2
Pk
=

0

✓
n
�

2

k

◆
p

k
+

2q
n�

(k
+

2
)
+

n
p

=
n

(n
�

1)
p
2

n�
2

Pk
=

0

✓
n
�

2

k

◆
p

kq
(n�

2
)�

k
+

n
p

=
n

(n
�

1)
p
2
+

n
p
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�
•

U
ne

v.a.r.discrète
FINIE

adm
et

TOUJOURS
une

espérance.

•
U

ne
v.a.r.discrète

INFINIE
n’adm

etpasnécessairem
entune

es-
pérance.L’hypothèse

de
CONVERGENCE

ABSOLUE
est

nécessaire
pour

la
bonne

définition
de

la
notion

d’espérance.

À
qu

oi
sert

l’hyp
oth

èse
d
e

convergen
ce

ab
solu

e
?

E
lle

est
nécessaire

pour
la

bonne
définition

de
la

notion
d’espérance.

Il
faut

bien
com

prendre
que

la
notation

P
x2

X
(⌦

)

xP
([X

=
x
])

ne
perm

et
pas

de
savoir

dans
quelordre

sont
som

m
és

les
élém

ents.
Iln’y

paraîtrien,m
aisc’estprim

ordialcom
m

e
l’énonce

le
résultatsuivant.

T
h
éorèm

e
6.

(CULTURE)

Soit P
u

n
une

série
sem

i-convergente.

i.e. (
P

u
n

converge
P

|u
n |

diverge

A
lors,

pour
tout

↵
2

R
,
ilexiste

une
perm

utation
�

de
N

telle
que

:
nPk
=

0

u
�
(k

)
�!

n!
+
1

↵

R
em

arqu
e

•
C

et
énoncé

est
parfois

nom
m

é
théorèm

e
de

réarrangem
ent.

•
Ilsignifie

qu’étant
donnée

une
série

sem
i-convergente,on

peut,en
m

odi-
fiant

l’ordre
de

som
m

ation,créer
une

série
quiconverge

vers
n’im

porte
quel

↵
2

R
choisit

à
l’avance

(on
peut

m
êm

e
prendre

↵
=

+
1

ou
↵

=
�
1

).
•

C
e

résultat
est

contraire
à

l’intuition
:
on

ne
s’attend

pas
à

ce
que

la
som

m
e

de
tous

les
term

es
u

i
dépende

de
l’ordre

de
som

m
ation.

•
C

ecine
se

produit
que

sous
l’hypothèse

de
sem

i-convergence.
L’hypothèse

de
convergence

absolue
est

celle
qui

perm
et

de
parler

de
convergence

d’une
série

indépendam
m

entde
l’ordre

de
som

m
ation

choisi.
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•

É
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m

m
en
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e

va
ri

ab
le
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éa

to
ir

e
su

it
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lo
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de

B
er

no
ul

li
de

pa
ra

-
m

èt
re

p
al

or
s

X
,!

B
(1

,p
).

•
O

n
re

tr
ou

ve
la

fo
rm

ul
e

du
bi

nô
m

e
de

N
ew

to
n.

C
on

si
dé

ro
ns

l’e
xp

ér
ie

nc
e

pr
éc

éd
en

te
(t

ir
ag

e
su

cc
es

si
f

av
ec

re
m

is
e

de
n

bo
ul

es
).

C
om

m
e

([
X

=
k
])

k
2J

0
,n

K
es

t
le

sy
st

èm
e

co
m

pl
et

d’
év

én
em

en
ts

as
so

ci
é

à
X

:
n P k
=

0

P(
[X

=
k
])

=
1

do
nc

n P k
=

0

✓ n k

◆
✓

r

r
+

v

◆ k
✓

v

r
+

v

◆ n
�

k

=
1.

O
n

en
co

nc
lu

t
:

n P k
=

0

✓ n k

◆
rk

v
n
�

k
=

(r
+

v
)n

T
h
éo

rè
m

e
15

.
So

it
X

un
e

v.
a.

r.
di

sc
rè

te
fin

ie
te

lle
qu

e
X

,!
B

(n
,p

)
(n

2
N
⇤ ,

p
2]

0,
1
[)
.

1)
A

lo
rs

X
ad

m
et

un
e

es
pé

ra
nc

e
et

un
e

va
ri

an
ce

.

2)
D

e
pl

us
:

E(
X

)
=

n
p

et
V

(X
)

=
n

p
q

=
n

p
(1

�
p
)

D
ém

on
st

ra
ti
on

.
1)

X
ad

m
et

un
e

va
ri

an
ce

(e
t

do
nc

un
e

es
pé

ra
nc

e)
ca

r
c’

es
t

un
e

v.
a.

r.
fin

ie
.

2)
•

E(
X

)
=

P
x
2X

(⌦
)

x
P(

[X
=

x
])

=
n P k
=

0

k

✓ n k

◆
p

k
qn

�
k

=
n P k
=

1

k

✓ n k

◆
p

k
qn

�
k
.

O
r,

po
ur

k
2

J1
,n

K,
on

a
:k
✓ n k

◆
=

n

✓ n
�

1

k
�

1

◆ .O
n

en
dé

du
it

:

E(
X

)
=

n P k
=

1

n

✓ n
�

1

k
�

1

◆
p

k
qn

�
k

=
n

n
�

1
P k
=

0

✓ n
�

1

k

◆
p

k
+

1
qn

�
(k

+
1
)

=
n
p

n
�

1
P k
=

0

✓ n
�

1

k

◆
p

k
q(

n
�

1
)�

k
=

n
p

(p
+

q)
n
�

1
=

n
p

ca
r

p
+

q
=

1.
•

V
(X

)
=

E(
X

2
)
�

(E
(X

))
2
.O

n
co

m
m

en
ce

do
nc

pa
r

ca
lc

ul
er

E(
X

2
).

E(
X

2
)

=
P

x
2X

(⌦
)

x
2

P(
[X

=
x
])

=
n P k
=

0

k
2

✓ n k

◆
p

k
qn

�
k

=
n P k
=

1

k
2

✓ n k

◆
p

k
qn

�
k
.
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2.

b
)

P
ro

p
ri

ét
és

d
e

l’
es

p
ér

an
ce

T
h
éo

rè
m

e
7.

So
it

(⌦
,A

,P
)

un
es

pa
ce

pr
ob

ab
ili

sé
.

So
it

X
et

Y
de

ux
v.

a.
r.

di
sc

rè
te

s
su

r
(⌦

,A
).

O
n

su
pp

os
e

qu
e

X
et

Y
ad

m
et

te
nt

ch
ac

un
e

un
e

es
pé

ra
nc

e.

L’
op

ér
at

eu
r

es
pé

ra
nc

e
vé

ri
fie

le
s

pr
op

ri
ét

és
su

iv
an

te
s.

1)
So

it
�
2

R
.L

es
v.

a.
r.

X
+

Y
et

�
X

ad
m

et
te

nt
un

e
es

pé
ra

nc
e.

D
e

pl
us

:

E(
X

+
Y

)
=

E(
X

)
+

E(
Y

)
et

E(
�
X

)
=

�
E(

X
)

(l
in

éa
ri

té
de

l’e
sp

ér
an

ce
)

2)
P
ou

r
to

ut
(a

,b
)
2

R
2
,
la

v.
a.

r.
a
X

+
b

ad
m

et
un

e
es

pé
ra

nc
e.

D
e

pl
us

:

E(
a
)

=
a

et
E(

a
X

+
b)

=
a
E(

X
)
+

b

3)
X

>
0

)
E(

X
)

>
0

(p
os

it
iv

it
é

de
l’e

sp
ér

an
ce

)

4)
X

>
Y

)
E(

X
)

>
E(

Y
)

(c
ro

is
sa

nc
e

de
l’e

sp
ér

an
ce

)

5)
X

>
0

E(
X

)
=

0

)
)

P(
[X

=
0
])

=
1

(X
es

tp
re

sq
ue

sû
re

m
en

tn
ul

le
)

D
ém

on
st

ra
ti
on

.
So

it
X

et
Y

de
ux

v.
a.

r.
di

sc
rè

te
s.

1)
P
ou

r
pl

us
de

si
m

pl
ic

it
é,

on
se

lim
it

e
ic

i
au

ca
s

de
s

v.
a.

r.
fin

ie
s

(c
as

in
fin

i
an

al
og

ue
)

et
on

ad
m

et
la

pr
em

iè
re

ég
al

it
é

(d
ém

on
st

ra
ti

on
un

pe
u

lo
ng

ue
).

D
ém

on
tr

on
s

la
se

co
nd

e
ég

al
it

é.
O

n
no

te
X

(⌦
)

=
{x

1
,.

..
,x

n
}.

•
Si

�
=

0,
la

v.
a.

r.
�
X

es
t

nu
lle

.S
on

es
pé

ra
nc

e
es

t
E(

0)
=

0.
•

Si
�
6=

0,
la

v.
a.

r.
�
X

a
po

ur
su

pp
or

t
(�

X
)(
⌦

)
=

{�
x

1
,.

..
,�

x
n
}.

É
ta

nt
fin

ie
,c

et
te

v.
a.

r.
ad

m
et

un
e

es
pé

ra
nc

e,
qu

iv
au

t
:

E(
�
X

)
=

n P k
=

1

�
x

i
P[
�
X

=
�
x

i]
=

�
n P k
=

1

x
i

P[
X

=
x

i]
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II.4.
L
oi

b
in

om
iale

D
éfi

n
ition

•
O

n
dit

qu’une
v.a.r.discrète

X
suit

la
loi

b
in

om
iale

de
param

ètre
(n

,p
),où

n
2

N
⇤

et
p
2

]0,1[si:

a)
X

(⌦
)

=
J0

,nK

b)
8
k
2

J0
,nK,

P
([X

=
k
])

=

✓
nk ◆

p
kq

n�
k

avec
q

=
1�

p

•
O

n
utilisera

la
notation

X
,!

B
(n

,p
)

pour
signifier

que
X

suit
la

loi
binom

iale
de

param
ètre

(n
,p

).

E
xem

p
le

O
n

considère
une

expérience
aléatoire

quiconsiste
en

une
succession

de
n

épreuves
indépendantes,

chacune
d’entre

elles
ayant

deux
issues

:
succès

obtenu
avec

probabilité
p

et
échec

obtenu
avec

probabilité
q

=
1
�

p.
A

utrem
ent

dit,
l’expérience

consiste
à

effectuer
n

épreuves
de

B
ernoulli

identiques
(i.e.de

m
êm

e
param

ètre)
et

indépendantes
(le

résultat
de

l’une
ne

dépend
pas

du
résultat

des
autres).A

lors
la

v.a.r.donnant
le

nom
bre

de
succès

de
l’expérience

suit
la

loibinom
iale

de
param

ètre
(n

,p
).

•
O

n
considère

l’expérience
du

jeu
de

P
ou

F
où

l’obtention
de

P
est

obtenue
avec

probabilité
p

(et
F

avec
probabilité

1�
p).

L’expérience
consiste

en
n

répétitions
de

ce
jeu

de
pile

ou
face.

O
n

note
X

la
v.a.r.égale

au
nom

bre
de

P
obtenus

lors
de

l’expérience.
A

lors
:
X

,!
B

(n
,p

)

•
O

n
considère

une
urne

contenant
r

boules
rouges

et
v

boules
vertes.

L’expérience
consiste

à
tirer

su
ccessivem

ent
n

boules
avec

rem
ise.

O
n

note
X

la
v.a.r.égale

au
nom

bre
de

boules
rouges

tirées.

A
lors

:
X

,!
B
✓

n
,

r

r
+

v ◆
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2)
Soit

a
2

R
.

Le
réel

a
peut

être
vue

com
m

e
une

v.a.r.
discrète.

C
’est

la
v.a.r.

constante
X

a
:
⌦
!

R
quivérifie

X
a (!

)
=

a
pour

tout
!
2
⌦

.
A

insi
X

a (⌦
)

=
{a}.

C
om

m
e

X
a

est
finie,

elle
adm

et
une

espérance
et

:

E
(X

a )
=

P
x2

X
(⌦

) P
([X

a
=

x
])

=
a

P
[X

a
=

a
]
=

a
P
(⌦

)
=

a

La
seconde

égalité
est

obtenue
par

linéarité
:

E
(a

X
+

b)
=

E
(a

X
)
+

E
(b)

=
aE

(X
)
+

b

3)
N

otons
X

(⌦
)

=
{x

i |
i2

I}.
La

condition
X

>
0

signifie
que

pour
tout

!
2
⌦

,
X

(!
)>

0.
A

utrem
ent

dit,
X

(⌦
)✓

R
+

et
pour

tout
i2

I,
x

i >
0.

L’espérance
E

(X
)
est

alors
la

som
m

e
d’une

série
à

term
es

positifs
(son

term
e

généralest
x

i P
[X

=
x

i ]).E
lle

est
donc

positive.
4)

N
otons

tout
d’abord

que
X

�
Y

adm
et

une
espérance

(d’après
1
).

O
n

utilise
alors

le
résultat

précédent.
X

�
Y

>
0

donc
E

(X
�

Y
)>

0
et

E
(X

�
Y

)
=

E
(X

)�
E

(Y
).

5)
Supposons

que
X

>
0

et
E

(X
)

=
0.

A
vec

les
m

êm
es

notations
que

précédem
m

ent,on
a

donc
x

i >
0.

Supposons
x

i
>

0.A
lors

nécessairem
ent

P
[X

=
x

i ]
=

0.
Si

on
suppose,

par
l’absurde,

que
cette

probabilité
est

non
nulle,

on
obtient

:
E

(X
)>

x
i P

[X
=

x
i ]

>
0

ce
quicontredit

l’hypothèse.
A

insi,pour
tout

i
telque

x
i 6=

0,P
[X

=
x

i ]
=

0.
O

n
a

donc
forcém

ent
P
[X

=
0
]
=

1.

R
em

arqu
e

•
La

linéarité
de

l’espérance
est

une
propriété

logique
puisque

l’espérance
est

définie
à

l’aide
d’un

opérateur
de

som
m

ation.
•

O
n

retiendra
notam

m
entque

la
som

m
e

de
v.a.r.discrètes

quiadm
ettent

une
espérance,adm

et
une

espérance.
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X
su

it
un

e
lo

id
e

B
er

no
ul

li,
al

or
s

X
(⌦

)
=

{0
,1

}.
O

n
en
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qu
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ur
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ut
r
2

N
⇤ ,

X
r
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X
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’e

st
no

ta
m

m
en

t
vr

ai
po

ur
le

ca
s

r
=

2)
.

T
h
éo

rè
m

e
14

.

So
it

X
un

e
v.

a.
r.

di
sc

rè
te

fin
ie

te
lle

qu
e

X
,!

B
(p

)
(p

2]
0,

1[
).

1)
A

lo
rs

X
ad

m
et

un
e

es
pé

ra
nc

e
et

un
e

va
ri

an
ce

.

2)
D

e
pl

us
:

E(
X

)
=

p
et

V
(X

)
=

p
q

=
p

(1
�

p
)

D
ém

on
st

ra
ti
on

.
1)

X
ad

m
et

un
e

va
ri

an
ce

(e
t

do
nc

un
e

es
pé

ra
nc

e)
ca

r
c’

es
t

un
e

v.
a.

r.
fin

ie
.

2)
•

E(
X

)
=

P
x
2X

(⌦
)

x
P(

[X
=

x
])

=
0

P[
X

=
0]

+
1

P[
X

=
1]

=
p

•
V

(X
)

=
E(

X
2
)
�

(E
(X

))
2

=
E(

X
)
�

(E
(X

))
2

=
p
�

p
2

Fo
n
ct

io
n

d
e

ré
p
ar

ti
ti

on
Si

X
es

t
un

e
v.

a.
r.

di
sc

rè
te

fin
ie

su
iv

an
t

la
lo

id
e

B
er

no
ul

li
B

(0
.7

).

1

0
1

0
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c)
T

h
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m

e
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sf
er

t

T
h
éo

rè
m
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8.

T
hé

or
èm

e
de

tr
an

sf
er

t

So
it

(⌦
,A

,P
)

un
es

pa
ce

pr
ob

ab
ili

sé
.

So
it

X
un

e
v.

a.
r.

di
sc

rè
te

su
r

(⌦
,A

).

So
it

g
:
X

(⌦
)
!

R
un

e
ap

pl
ic
at

io
n.

1)
Si

X
es

t
fin

ie
:
et

qu
e

X
(⌦

)
=

{x
1
,.

..
,x

n
}.

D
an

s
ce

ca
s,

la
v.

a.
r.

g
(X

)
ad

m
et

un
e

es
pé

ra
nc

e
de

va
le

ur
:

E(
g
(X

))
=

n P i=
1

g
(x

i)
P(

[X
=

x
i]
)

2)
Si

X
es

t
in

fin
ie

:
et

qu
e

X
(⌦

)
=

{x
i
|i

2
N

}.

La
v.

a.
r.

g
(X

)
ad

m
et

un
e

es
pé

ra
nc

e
,

La
sé

ri
e

de
P

g
(x

n
)

P[
X

=
x

n
]
es

t
ab

so
lu

m
en

t
co

nv
er

ge
nt

e

3)
So

us
ré

se
rv

e
d’

ex
is

te
nc

e,
on

a
do

nc
:

E(
g
(X

))
=

P
x
2X

(⌦
)

g
(x

)
P(

[X
=

x
])

D
ém

on
st

ra
ti
on

.

1)
g
(X

)
es

t
un

e
v.

a.
r.

de
su

pp
or

t
g
(X

)(
⌦

)
=

{g
(x

1
),

..
.,

g
(x

n
)}

(a
bu

s
de

no
ta

ti
on

:
le

s
g
(x

i)
ne

so
nt

pa
s

fo
rc

ém
en

t
to

us
di

ffé
re

nt
s)

g
(X

)
ét

an
t

fin
ie

,e
lle

ad
m

et
un

e
es

pé
ra

nc
e.

•
Si

to
us

le
s

g
(x

i)
so

nt
di

ffé
re

nt
s.

A
lo

rs
g
(X

)
a

po
ur

es
pé

ra
nc

e
:

E(
g
(X

))
=

n P i=
1

g
(x

i)
P(

[g
(X

)
=

g
(x

i)
])

=
n P i=
1

g
(x

i)
P(

[X
=

x
i]
)
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II.3.
L
oi

d
e

B
ern

ou
lli

D
éfi

n
ition

•
O

n
dit

qu’une
v.a.r.

X
suit

la
loi

d
e

B
ern

ou
lli

de
param

ètre
p
2

]0,1[si:

a)
X

(⌦
)

=
{
0,1}

b)
P
([X

=
1])

=
p

et
P
([X

=
0])

=
1�

p
=

q

•
O

n
utilisera

la
notation

X
,!

B
(p

)
pour

signifier
que

X
suit

la
loide

B
ernoullide

param
ètre

p.

E
xem

p
le

C
onsidérons

une
expérience

aléatoire
possédant

deux
issues

qui
ne

sont
pas

forcém
ent

équiprobables.L’une
de

ces
issues

est
nom

m
ée

«
succès»

et
se

produit
avec

probabilité
p

;l’autre
est

nom
m

ée
«

échec
»

et
se

produit
avec

probabilité
1�

p.A
lors

la
v.a.r.

X
égale

à
1

en
cas

de
succès

et
0

en
cas

d’échec
(i.e.

calculant
le

nom
bre

de
succès)

suit
la

loide
B

ernoullide
param

ètre
p.

•
O

n
considère

l’expérience
du

jeu
de

P
ou

F
où

l’obtention
de

P
est

considéré
com

m
e

le
succès

de
l’expérience.

La
v.a.r.quivaut

1
si

P
est

obtenu
et

0
sinon

suit
la

loiB
✓

12 ◆
.

D
ans

ce
cas,cette

loicoïncide
avec

la
loiuniform

eU
(J0

,1K).
Si

P
est

obtenu
avec

probabilité
p,alors

X
,!

B
(p

).

•
O

n
considère

une
urne

contenant
r

boules
rouges

et
v

boules
vertes.

L’expérience
consiste

à
tirer

une
boule.

O
n

note
X

la
v.a.r.de

valeur
1

sion
tire

une
boule

rouge
et

0
sion

tire
une

boule
verte.

A
lors

:
X

,!
B
✓

r

r
+

v ◆
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•
Sinon,

g
(X

)(⌦
)

=
{
y
1 ,...,y

m }
avec

m
<

n
et

pour
chaque

y
j ,

il
existe

au
m

oins
un

i2
I

telque
y

j
=

g
(x

i ).
Ils’agit

alors
de

regrouper
les

x
i
quiadm

ettent
la

m
êm

e
im

age
par

g.O
n

note
alors

I
j

=
{i2

I
|
g
(x

i )
=

y
j }.O

n
a

:

E
(g

(X
))

=
mPj=

1
y

j
P
([g

(X
)

=
y

j ])

Ilsuffi
t

alors
de

rem
arquer

:
[g

(X
)

=
y

j ]
=
Si2
I
j

[X
=

x
i ].

P
ar

�-additivité,on
a

:

y
j P

([g
(X

)
=

y
j ])

=
y

j Pi2
I
j P

([X
=

x
i ])

=
Pi2

I
j

y
j

P
([X

=
x

i ])

=
Pi2

I
j

g
(x

i )
P
([X

=
x

i ])

E
tainsi:E

(g
(X

))
=

mPj=
1

Pi2
I
j

g
(x

i )P
([X

=
x

i ])
=

nPi=
1
g
(x

i )P
([X

=
x

i ]

2)
A

dm
is.

I.2.d
)

V
ariab

le
centrée

D
éfi

n
ition

Soit
(⌦

,A
,P

)
un

espace
probabilisé.

Soit
X

une
v.a.r.discrète

sur
(⌦

,A
).

•
O

n
dit

que
X

est
une

variab
le

centrée
si

X
adm

et
une

espérance
nulle.

•
Si

X
adm

et
une

espérance,
la

v.a.r.
X

�
E

(X
)

est
appellée

variable
centrée

associée
à

X
.

R
em

arqu
e

Si
X

adm
etune

espérance,la
v.a.r.

X
�

E
(X

)adm
etune

espérance
com

m
e

som
m

e
de

v.a.r.discrètes
adm

ettant
une

espérance.
C

ette
v.a.r.est

centrée
puisque,par

linéarité,on
a

:

E
(X

�
E

(X
))

=
E

(X
)�

E
(E

(X
))

=
E

(X
)�

E
(X

)
=

0
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=
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=
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=
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=

Y
+

a
�

1.
O

n
en
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=
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=
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=
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+
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=
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=
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puisque,com

m
e

on
l’a
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=
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e

la
v.

a.
r.

(a
X

+
b)
�

E(
a
X

+
b)

ad
m

et
un

m
om

en
t

d’
or

dr
e

2.
T
ou

t
d’

ab
or

d
:

((
a
X

+
b)

�
E(

a
X

+
b)

)2
=

(a
X

+
b
�

(E
(a

X
)
+

E(
b)

))
2

=
(a

(X
�

E(
X

))
+

b
�

b)
2

=
a

2
(X

�
E(

X
))

2

O
r,

pa
r

dé
fin

it
io

n
de

la
va

ri
an

ce
de

X
,
la

v.
a.

r.
(X

�
E(

X
))

2
ad

m
et

un
e

es
pé

ra
nc

e.
C

’e
st

do
nc

au
ss

il
e

ca
s

de
la

v.
a.

r.
((

a
X

+
b)
�

E(
a
X

+
b)

)2
.

E
n

ap
pl

iq
ua

nt
l’o

pé
ra

te
ur

es
pé

ra
nc

e
da

ns
l’é

ga
lit

é
pr

éc
éd

en
te

,
on

ob
ti

en
t

:

V
(a

X
+

b)
=

E(
(a

X
+

b)
�

E(
a
X

+
b)

)2
=

E(
a

2
(X

�
E(

X
))

2
)

=
a

2
V

(X
)

A
u

pa
ss

ag
e,

da
ns

le
ca

s
où

a
=

0,
on

dé
m

on
tr

e
qu

e
V

(b
)

=
0.

3)
(X

�
E(

X
))

2
>

0
do

nc
,d

’a
pr

ès
la

pr
op

ri
ét

é
3)

du
T

hé
or

èm
e

7
:

V
(X

)
=

E(
(X

�
E(

X
))

2
)
>

0

R
em

ar
qu

e
•

La
va

ri
an

ce
es

t
un

e
m

es
ur

e
m

oy
en

ne
de

l’é
ca

rt
en

tr
e

la
v.

a.
r.

et
sa

m
oy

en
ne

.D
an

s
le

ca
s

d’
un

e
v.

a.
r.

qu
in

e
va

ri
e

pa
s

(u
ne

v.
a.

r.
co

ns
ta

nt
e

i.e
.
un

ré
el

a
),

il
es

t
lo

gi
qu

e
qu

e
la

va
ri

an
ce

so
it

nu
lle

(V
(a

)
=

0)
.

•
C

on
tr

ai
re

m
en

t
à

l’e
sp

ér
an

ce
,

l’o
pé

ra
te

ur
de

va
ri

an
ce

,
dé

fin
i

à
l’a

id
e

d’
un

e
él

év
at

io
n

au
ca

rr
é,

n’
es

t
pa

s
lin

éa
ir

e.
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II.
L
ois

discrètes
finies

D
ans

tout
ce

paragraphe,
on

étudie
des

v.a.r.
discrètes

finies.
O

n
pourra

alors
noter

X
(⌦

)
=

{x
1 ,...,x

n }
le

support
de

telles
v.a.r..

II.1.
L
oi

certain
e

D
éfi

n
ition

•
O

n
dit

qu’une
v.a.r.

X
suit

u
n
e

loi
certain

e
s’ilexiste

m
2

R
telque

:

a)
X

(⌦
)

=
{
m

}

b)
P
([X

=
m

])
=

1

•
O

n
dira

aussique
la

v.a.r.
X

est
certain

e,égale
à

m
.

•
Si

X
est

une
v.a.r.discrète

finie
telle

que
X

(⌦
)

=
{
x

1 ,...,x
n }

:
on

dit
que

X
suit

une
loi

qu
asi-certain

e
siP

([X
=

x
1 ])

=
1.

E
xem

p
le

Les
lois

certaines
(quasi-certaines)

sont
utilisées

pour
définir

la
loi

de
v.a.r.quisont

définies
sur

expériences
aléatoires

dont
l’issue

est
sûre.

•
O

n
considère

un
dé

pipé
dont

le
résultat

est
toujours

6.
L’expérience

aléatoire
consiste

en
un

lancer
de

ce
dé.

O
n

note
X

la
v.a.r.donnant

le
résultat

du
dé.

X
suit

une
loiquasi-certaine

(X
(⌦

)
=

J1,6K
et

P
([X

=
6])

=
1).

•
O

n
considère

une
urne

contenant
n

boules
de

couleurs
différentes

qui
sont

toutes
num

érotées
par

le
m

êm
e

chiffre
7.

L’expérience
consiste

à
effectuer

un
tirage

dans
cette

urne.
O

n
note

X
la

v.a.r.donnant
le

num
éro

de
la

boule
sortie.

A
lors

X
suit

la
loicertaine

de
support

X
(⌦

)
=

{
7}.
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I.3.c)
V

ariab
les

centrées
réd

u
ites

D
éfi

n
ition

Soit
(⌦

,A
,P

)
un

espace
probabilisé.

Soit
X

une
v.a.r.discrètes

sur
(⌦

,A
).

a)
Si

X
adm

et
une

espérance
égale

à
0

on
dit

que
X

est
une

variable
centrée.

b)
Si

X
adm

et
une

variance
égale

à
1

on
dit

que
X

est
une

variable
réduite.

c)
Si

X
adm

et
une

variance,
la

variable
X

⇤
=

X
�

E
(X

)

�
(X

)
est

appelée

variable
centrée

réduite
associée

à
X

.

R
em

arqu
e

•
Si

X
adm

et
une

variance,
la

v.a.r.
centrée

réduite
associée

à
X

est,
com

m
e

son
nom

l’indique,centrée
et

réduite.
R

em
arquons

déjà
que

X
⇤

adm
et

une
espérance

et
une

variance
car

s’écrit
sous

la
form

e
a
X

+
b

avec
a

=
1

�
(X

) 2
R

et
b

=
�

E
(X

)
�
(X

) 2
R

.

1)
X

⇤
est

centrée
car

:

E
(X

⇤)
=

a
E

(X
)
+

b
=

1

�
(X

) E
(X

)�
E

(X
)

�
(X

)
=

0

2)
X

⇤
est

réduite
car

:

V
(X

⇤)
=

a
2V

(X
)

=

✓
1

�
(X

) ◆
2

V
(X

)
=

V
(X

)

(�
(X

))
2

=
V

(X
)

V
(X

)
=

1

•
O

n
retiendra

qu’à
toute

v.a.r.
X

quiadm
et

une
variance,on

peut
asso-

cier
une

v.a.r.
X

⇤
centrée

réduite.C
onsidérer

de
telles

v.a.r.peut
être

intéressant
:cela

perm
et

de
sim

plifier
les

raisonnem
ents.
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